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kijdfoftsg
stz laj<)f 2072/073 kit
s¥f ?-
if*{o- 1
si|Jofkfl<s If§
L|g=kf= rfE byl kif\ugeb rfk,dfdf rfls, rhfrhl di:lj=Jfi*E xb}xjNbf< rfs ;DdsflkSsL i fh]%g]bfof_jfofsf 2000000
hiufx? |
2|<jL A)* < cf;kf; sf kSsL ; *sn]%fPsf hiufx? 13000000
v|cfjf; Iy
1|dfdf rfs b/l Ix=dfda= ;0d < Ansd clkn; blv ; tf;L dfu{hfg] ; *sn]%Psf hlufx? 1000000
2|Ix-df-lj= byl kftdL rfE ;0d hfg];*sn]%fPsf hiufx? 500000
3[xjhbf< rfy byl efejfl :sh ;0d kSsl ;*sn]%fPsf hlufx? 1000000
4|gkE= ris jf* ~hlsd xbikSsl she” ;Ddsf]bfof_jfofsf hiufx? 1000000
5[NInsd clkn; kj{kSsl she™ byl IKE<fF ;Ddsf hlufx? 600000
6|dfly pNnivt jixk kSsl jf ] %] hlufx? 650000
7|dfly pnivt jixkf ufjh jfh]%g]hiufx? 400000
8|xjNof< rfs blv cfvf c:ktfn ;Ddsf]bfof jfofsf hlufx? 400000
u=[sif T
1| aTsamét The - TEAT T FoAl AR G AT ATA(HT SRS 400000
2|dfly pinjvt afxgsft sRrl jith]%g]hiufx? 200000
3|dfly pNnivt afxkst ji*fh]g%g]vil oflo hiufx? 100000
#|au< Ify
1| vfhiwi< ;fdfbo VEL xb]If§sf hiufx? 50000
2|K){?kdf vfpf ePsf Iffysf hlufx? 25000
j*g= 2 .
st laj<)f Kt sTf 7=
s|cfjf;lo Ify
1|>1& rfs xb}Ix-df:lj= :sh xb}gof_cfibf c:ktfn ;0d kSsL ;*sn]%g]hlufx? 1000000
2|>j& rfk xb}gof_cfibf rfs ;Ddsf hiufx? 500000
3|dfly pnivt afxksf cto kSsl jfAfh]%g] hlufx? 500000
AIx=dflj= kWL ji~ titjicl k' hifFg] ; *sn]%y]hiufx? 500000
5{Ix-dfIj= bj/L kfEdL rfs bfof jfofsf hiufx? 500000
v|slif Iff
1|Ih<fog rfs byl 2 < 4 sf]l;dfgf ;0d bfof_jfofsf hlufx? 300000
2|cfibf rfs bl 29 < 4 g=sf]l; dfgf ;0d < dfly pNnlvt afxksf cbo ufeh ;*sn]%fPsf hiufx? 300000
3|dfly pNnlvt afxk cbo sRrl ;*sn]%g]hlufx? 200000
4|dfly pNnivt afxksf cto vil ofjo hlufx? 150000
if*{g= 3
stz laj<)f Kt sTf 7
s|cfjf;lo Ifh
1|bds ah*fit kSsl affh]%g] hlufx? 500000
2|dfly pinivt afxksf cto ufeh ;*sn]%g]hlufx? 300000
v|slif Ify
1|dfly pNnlvt afxksf cbo sRrl ;*sn]%g]hlufx? 200000
2|dfly pinjvt afxgsf vil ofjo hlufx? 100000
ujauc< Iff
1|vihfwi au< Iffsf hlufx? 50000
2|Kyf{?kdf vfhf ePs]hlufx? 25000
if*{g-4
stz laj<)f Kt sTf 7
s|cfj;lo Ifg
1) vhkufl dwdinf, cl*ofdfh rf, dbgcf>Lt rf, Ix=dflj= (Skkfgl, tifjfl I*k' ; *sn]%g]hlufx? 500000
2|dfyl pnjvt afxk cbo ufeh ;*sx?n]%b]hlufx? 150000
3|dfly pnlvt afxgsf cbo sRrl ;*sn]%b]hlufx? 150000
v/|slif Ify
1{dfly pNnlvt afxksf ;*sn]g%b]vil offo hiufx? 50000

if*{g= 5
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st;: ] laj<)f klt sYf 2=
s|Jofkfls Iffi
1|bds ah*fi kSsl ;*sn]%b]hlufx? 500000
v|cfjf;lo Iff
1|cfdrfg pQ< s)f dobl< ah*fEL ufeh ;*sn]%b]hlufx? 200000
2lefnVv*L ah*fl ;*sn]%b]hlufx? 150000
3|dfly pinlvt afxksf cbo ufeh ;ssn]%b]hlufx? 100000
ulslif IfYy
1|dfly pinlvt afxksf cbo sRrl ; ssn]%b]hlufx? 100000
2|dfly pinivt afxgsf cto vi offo hlufx? 50000
#|au< Iff
1{vfhiwik ;fdfto vEL xg]hlufx? 25000
2|au< Iffsf hlufx? 15000
i*{g-6
si;:] laj<)f klt sYf 2=
s|cfj;lo Ify
1[sDfdIch< jh*ful ;*sn]%b]hlufx? 250000
2|dfyl pnlvt afxksf ufeh ;*sn]%b]hlufx? 150000
v|slif I}
1|dfly pinlvt afxksf sRrl ;*sn]%b] ; athlufx? 50000
2|dfly pinivt afxgsf ;*sn]ghy]vil offo hiufx? 35000
g 7 ,
si;: ] laj<)f klt sYf 2=
s|cfj;lo Ifg
1AL %k xbufhfM< rfs ;Ddsf] ; *sn]%g]hlufx? 100000
2|dfly pnivt afxksf <*<ff < cto ufeh ;*sn]%b]hlufx? 75000
v|slif If}
1|dfly plinlvt afxEsf sRrl ;*sn]%b]hlufx? 50000
2|dfly pinivt afxkst ;*sn]%g]vil offo hlufx? 35000
ulau< Iff
1| vihfwi ;fdfso vl offo hiufx? 20000
2|K){?kn]afnjf ePsf hiufx? 15000
it{e: 8 ,
si;: ] laj<)f klt sYf 2=
s|Jofkfl<s I}
1| nfedfufi]%fPsf hlufx? 1000000
v|cfj;lo Ify
1]kSsl ;*sn]%b]bfof jfofsf hlufx? 400000
2| tifjil I*k; sPfdith< < ah*ful ufeh ;*sn]%g]hlufx? 200000
3|dfly pNnivt afxgsf cbo ufeh ;*sn]%g]hlufx? 150000
u|slif Iff
1|dfly plinlvt afxEsf sRrl ;*sn]%b]hlufx? 100000
2|dfly pinivt afxksf ;*sn]ghb]vil offo hlufx? 70000
#lau< Ify
1| vihfwi< ;fdfso vl offo hiufx? 20000
2|afnahi{ePsflhlufx? 15000
it gz 9 ,
si;: ] laj<)f klt sYf 2-
s|Jofkfl<s I{q
1| nfdfufi]%g] hlufx? 1500000
v|cfj:lo If§
1|kSsl ;*sn]%b]hlufx? 800000
2|lrof bffg pQ< <fhib|bfxfnsf]#< ;Ddsf]bfof afofsf hiufx? 600000
3| cftibsf dfu{xb}ibk nfn wdfnsf]#< ;Ddsf bfof jfofsf hiufx? 600000
4|Irof aufg xb}pQ< zflct rIk ;0d ufeh ;*sn]%y]hlufx? 300000
5[nfedfuf u hif*glkjf~rn pRr dflj: hfglafy ;0d < sib|kk f0&f]fnl"Esf hiufx? 600000
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6|dfyl pnivt afxk ufeh ;*sn]%b]hlufx? 300000
7|dfyl pinlvt afxs sRrl ;*sn]%g]hlufx? 200000
ulslif IfYy
1|dfly pinlvt afxksf af*]gePsf vit oflo hlufx? 100000
1*{g- 10
st;:] laj<)f klt sYf ?-
s|Jofkfiks If§
1|bds u)ftéq rfe blv ;u<dfyf k¥h kDk ;Ddsf nfkdfufi]%b]hlufx? 5000000
2| ; u<dfyf kTt kDk blv bds Softk; dff ;Ddsf hlufx? 3500000
3|u)fttq rfk blv dinkft sfoffio ;ddsf hlufx? 3000000
4|dfnkft sfoffio blv <ftflkh ;Ddsf hlffx? 2500000
v|cfjf;lo Iff
1|<ftflkh biv dfdf rfE ;Ddsf hlufx? 1500000
2|Mikrs dfuf dunlbk dfuf ufi/fldfufkSsl ;*sn]%g]hlufx? 1200000
3leB\L rfk xb};u<dfyf kih Kbk ; Ddsf hiufx? 1200000
4|Sofbk ; dff xb}gofFefbf <fFn]%b]hlufx? 1500000
5/dfly pnlvt afxksf cto ;xfos kSsl ;*sn]%b]hlufx? 1200000
6|dfly plnlvt afxksf cbo ;xfos ufeh ;*sn]%b]hlufx? 750000
7|dfly pnvt afxgsf cto ;xfos sRrl ;*sn]%b]hlufx? 500000
ulslif IfYy
1|dfly pinlvt afxksf ;*s gePsf legl hiufx? 300000
jf{g= 11 _ .
st laj<)f Kt sTf 7=
s|Jofkfl<s I}
1|Nffsdfufi]%g] hlufx? 5000000
9 v*fgth kf]/hsﬂzhk xbHbks >jesfl#< Id;fn ahf, #ld<]dfst, ;AhL nfo§ blv kzklt dfu{xb}in@bly dfuf] 3500000
dv ;Ddsf bief jfef ;*sn]%Psf hlufx?
3|kif\ubtb rfs blv xgtfg dith< ;Ddsf hlufx? 3500000
4|kzktl dfu{blv bjsflf rfk xbju)fteq rfs ;ddsf hlufx? 3500000
5(dfnkft sfoffio cuf*l blv u)ftéq rfs ;ddsf hlufx? 3500000
6{<ftflkh blv dfnkft sfoffio cuf*l ;Ddsf hlufx? 3500000
7|xgtfg dith< biv nfdfu{;0dsf hlufx? 3500000
8| knfNubtb rfs blv dfdf rfls < kiflufth rfs blv <ftflkh ;0dsf hlufx? 3500000
9|Inaby dfuf] dvblv ;Kt<EL Pki-Pd ;Ddsf hiufx? 3500000
10 ; ft<El PkiPd, gdbyf dfu{blv u)ftiq rfs ;Ddsf hiufx? 3500000
11];6tjl< nfdf rf blv pQ< cdi< nfdfsfl#< xb}al$z< es«fsfl#< ;Ddsf hlufx? 2500000
12|<1g rfk blv bjsfM rfk ;0d < cfofcfPd: nf0§sf hlufx? 2500000
v|cfjf;lo Ify
1|0ftdf rfs blv <ftflkh ;Ddsf hlufx? 2000000
2|0ffly phny afxlsf cto kSsl af*h]%g]hlufx? 1500000
3(bffly pNnys afxpsf cbo ujeh af*h]%g]hlufx? 1000000
if*{g- 12 _ .
st laj<)f Kft sTf 7
s|Jofkfl<s I}
1|g=kf= rfs blv xgtlfg dith< ;Ddsf hlufx? 3500000
2|xgdfg ditb< blv kzk ;Ddsf hiufx? 3500000
3okt rfs xb}kj{"Insd ;0d < Igns)& <fF <fwfs)f dish< rfs ;Ddsf]bféf jfofsf hlufx? 2500000
v|cfjf;lo Ify
1|dfly phnys afxksf cto kSsl affh]%g]hlufx? 1500000
2|dfly phny afxgsf I<*<fF blv kiZrd < cto ufeh af*fh]%g]hlufx? 1000000
3|dfly pNnjs afxksf cbo sRrl ;*sn]%g]hlufx? 600000
u|slif Iffy
1|dfly pNnjs afxksf vil offo hlufx? 300000
#|au< Iff
1|vihfwic ;fdfso VKL offo hiufx? 100000
2| K¥{?kdf vipf jusflhlufx? 50000




Plssk ;DkQs< ktydfofesg 2071

kijdfoftsg
laj<)f 2072/073 kit
s¥f 7
i*{g- 13
: laj )t kit jufld’<
Jofkfl<s If§]
nfsdfufi]%g]hlufx? 15000
xfof ] ; xof<L dfu{blv gkin dfst, lasfz dfugflkiZzrd gkin dfs{ hffg]af] zixbdfu{strg *}L ;0d < gofF
2|ahf< cf; kf; sf hlufx? 10000
3|lasfzdfufldfylpnivt :yfgaf® Is<ft rfs ;Ddsf hlufx? 6500
v|cfj;lo If§
1|gkin dfsT byl Ibklgl kh ;0dsf hlufx? 7380
2| zIxb dfu{stirg *§L pBfli bjL IbkyL kh ;Ddsf hlufx? 7380
3|Is<ft rfk byl eiicth e)*iisf] ;Ddsf hlufx? 5900
4|gof jhi< kj{nldL bhfnsf]#< xbthfglufeh ;*s blIf)f cDj< gkinsfl#<, dfL Idn ;Ddsf]bfof jfofsf hlufx? 7380
5/;fljs bds 7 < dwdinf 4 & ePsf hlufx? 2950
6|dfly pNnivt afxpsf cbo ;xfos kSsl ;*sn]hlufx? 2950
7|dfly pnivt afxksf cto ufeh ;*s <fnl*E ;*ssf hlufx? 1500
g|dfly pNnjvt afxksf cto sRrl ;*sn]%fPsf hiufx? 1500
ul|sfif 1Yy
1|dfly pNnivt afxksf vil offo hiufx? 1000
#|au< Iff
1|vihfwic ;fdfso vl xg]hlufx? 300
2|K)fau< Iffysf hlufx? 150
if*{g- 14
si;z] laj<)f kit ju{ld’<
s|Jofkflks Ify
1| nfdfufi]%b]hlufx? 10000
v|cfj:lo If}
1|kSsl ;*sn]%g]hlufx? 3000
2|lblkgl kh byl jufg g;§l ;0dsf hlufx? 10000
3l j<ufel rfs byl xfof] ; Xt af™] ;0d < hil; diu§fldxib| ; Jjfsflbfof jfofsf hlufx? 4430
4|50k ; kj{hg<n sbkgl Iffj laBt kflws<)f blv pQ<sf knI"E tyf sRrl ;*sn]%y] ; athlufx? 4430
5/dfly pNnlvt jfxE cbo ;*sn]%g]hlufx? 2600
ulslif IfYy
1|dfly plinlvt afxgsf af*]gePsf vil offo hlufx? 625
#lau< Ify
1|dfly pinlvt afxksf vihf wik ;fdfto vl xg]hlufx? 150
2|dfly pinivt afxkst K){?kdf vihf ePsf hlufx? 100
Jjf*{g=15
st;:] laj<)f kit jufld~<
s|Jofkfl<s I}
1| nfsdfufi]%y] hlufx? 5000
v|cfj;lo Ify
1|cbo kSsl ;*sn]%fPsf ;a}hlufx? 3000
2|Irof bisfg bllf)f nfpaxibk Iwdfnsfl#<xb}kj{zflctdfu{pQ<sft ; j}thlufx? 2000
3|xf0f] ; xui<sflavrfs ;0d < ;flbV/l kj{tki§f ;athlufx? 1000
4|dfly pnlv afxesf cbo ugh ;*sn]%g]hlufx? 1000
5|dfly phnlv afxksf cto sRrl ;*sn]%y]hlufx? 600
u|slif Iff
1|dfly plinlv afxksf vl offo ;*sn]g%g]hlufx? 400
#|au< Iff
1|vihfwi< ;fdffio vEL xb]hlufx? 150
2|K)fPkdf vihf ePsf hiufx? 100
Jf*{g:= 16
st;z] laj<)f kit jufld™<
s|Jofkfl<s I}
1| nfdfufi]%y] hlufx? 3000
v|cfj;lo Ify
1|sPfdlch< blIff cgfrf*Lsf] ;*s pQ< tikfjil rfk bllf)f rsky xbHkun] kifd ;ddsf hlufx? 700
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2|dfly pinivt jfxk ufeh ;*sn]%g]hlufx? 400
u(slif Ify
1|dfly pinlvt afxksf cbo sRrl ;*sn]%b]hlufx? 300
2|dfly pinivt afxgsf cto Vil offo hiufx? 250
#|au< Ify
1| vihfwi< ;fdfso vilxg]hlufx? 150
2| ju< Iffgst hlufx? 100
1 {g= 17
st;z] laj<)f kit ju{ld~<
s|cfjf;lo If}
ufehjf]%]hlufx? 300
v|slif I}
1|dfly pinlvt afxksf sRrl ;*sn]%b]hlufx? 200
2|dfly pinivt afxgsf vil offo hlufx? 100
ulau< Ify
1| vihfwi< ;fdfio viL xb]hlufx? 100
2| ju< Ifgst hlufx? 50
i*{g- 18
st;z laj<)f kit ju{ld<
s|cfjf;lo Ify
1] ; u<dfyf rfs blINf xfOf] ; o<l ;*sn]%Psf hlufx? 700
v|slif Ify
1|dfly plinlvt afxgsf ufeh ;*sn]%g]hlufx? 350
2|dfly pnivt afxsf sRrl ;*sn]%g]hlufx? 300
3[dfly pNnivt afxgsf vil offo hlufx? 200
ulau< Iff
1| vihfwi< ;fdfso vilsf hlufx? 100
2| ju< Ifgisf hiufx? 50
Jjf*{g= 19
CH laj<)f kit ju{ld<
s|cfj;lof Ify
1|xf0§] ; xof<l ;*sn]%fPsf hlufx? 500
v|slif If}
1|dfly pinlvt afxksf cbo ufeh ;*sn]%g]hlufx? 300
2|dfly pnivt afxksf cto sRrl ;*sn]%y]hlufx? 200
3|dfly pNnivt afxpsf vil offo hlufx? 100
ulau< Iff
1| vihfwi ;fdfso vEixg]hlufx? 100
2| ju< Iffysf hlufx? 50




